[-B340

obObooobOo0ooobO0oobObO0oobObOOoobObOOoonOn0n

gobbdod bObdobO OO0 ggno ooogo ggobooooboboda ooda ooo
gogboboodg boodg bOobdad ggboobodobooono ooo boob

1. 0000 ODoobobooobobobobo
gbobobbooooboobooobobbodan
goobooooboboooob 20000 z
gbobobbooooboobooobobbodan S

IRl

maEg

I

I = | " 385
0000000000 0000000000 Casel Case?
Dbobbooooboooooooooon 01 00000 20000000000000

un
2 0000 Oo0OOoOobobooobbobOoob @
0 18x2omiidddoooooooooonon - .[[ B =0°

OoDo0oOooDb oeOvOMs DOODOOODO

A B =20° £x0m
1/n=1/100(Casel) 0] 1/144(Case2)(] 20000 30 N
0000000000000000000000 @T’TT ?/
000000000000000Casel 0 20° O Eiii% T
Case20 0° D0DDOOOODOOD 100000 £&:2m \ngj\l¥L/
boooodooobboboooooooouo D0000000Casel] 0OOOOOOOOOO
0000000000000000000000 0 Case2l]
000000000000Casel 0000000 02 0000000

gomobooobooooobbooooooboo
Ub000Ces200000000DO0ODODODOODODODOODOODODODOODLOODODOODOO 200
3. 000000000 O00OObDOobOOobOcO0obO0oOobOOobOobDOobOobDOobOoOocOooOwr=viD)DOOO
gooooobobobobo ry2o00b0ooboboooboobfcoobobocbobD0o0oMHnUDOOD O
OO0O00000O0(Casell 0.030mO Case20 0.057vmI 00 0O ODOODOODOOOODOOOOOOOOODOOD
OO0D00O0O0OO0OCesel OO OODOODO f=836006 =00240000Case20000ODOONO f=7.1600 =0.03
gooboooooboboogobooboooooobobooooboboooobboooobobbooooobooDoo
goboogobooooboboooobooo
DCesel0O0O0ODOOODOOOOODOOOOODOOODOODOO

O30 CeselDUUOO0OODOOOOODDOOODDDOO VIOD1IO1BOUOOODODOOOOOLOOOO
obog2a/b00oogosotooooobobobobooobobobuobno 2nOb0o0bobooobooD
bbb 4n0b00 vrbs4ooobooboooobooobobobooboobooooobo
gopoogoboooobobooboboooboobooooboo
QCas2 00 000O0D0OCOOOOOODOOCOOODOOODOOOOO

050 Ces20 00000000 DODOOODOOOOD VIMOS500D00000DODOOODOD 2AD
goboogodoUlibboobbboobboobbbooobboobbovroBOoooboooobo

ugboboogobobooabboooboooboTMbbooboooobooboan
UO00008n4-8550 UDDOOUOUODDOOD 1-1 000D 0000 TEL: 093-884-3466, FAX: 093-884-3100

~680- EARFRFERO M E R A S CEAK134£101)



[-B340

= it =)

- 0.5 o0 = 05
000D0000000000000 §7F N g T
000000000000 60000 §%4 ) Lt goab. Lol [ mAR |
00 vride0oD0O0O0O0O0O0OOOO Eml ,,,,,,,,,,,,,,,,, E% ,,,,,,,,,,,,,,,,,,,
O00000 200000 0230 Ggpt. . - | | @, - - Soal i
0oooooO00O0ooOoO0OooooO & | -

S01FE- - - -4 50.1;——;—7‘—7—;————‘———j
00000000 0O0O0DOoOoood g f 1 B o2 ]

F 004 ‘ : : 1 0.0 Kicorrientontegs, B0 %0 ]
D00D000D0000000000 5§ 0 6 10 15 20 25 30 § 0 5 10 15 20 25 30

Reduced Wind Velocity (Vr=V/fD) - Reduced Wind Velocity (Vr=V/fD)
gooooooooao

3Case2 00000 TMD OO0 OO 03 0000000 Caseld 04 O00O00O0ODODO0OCeseld

4

2 05 2 05
nooodoo = 0 [~Im | 2 -
070 Case2 00000 TMDO O EM;~r~r~r*ﬂﬂ ~{§04 ———————— IR ]
00000000000OTMDOOD  Gos §03
00000000000000000 34y % 02
0000000000000 5000 & | E
S 01 F 2 0.1
00000000000 OoOoOoOoOoOg g f E
‘go.o* e 'go.o poriney
00 V=55 0000000000 £ 0 , , 270
Reduced Wind Velocity (Vr=V/fD) Reduced Wind Velocity (Vr=V/fD)
2A/D=0.02 000000000000
00000000 0000000 TVMD 05 000000 06 DOODOOOOOO
00000000 009 000000 U Case2l] - 0 Case2l]
O0O0TMDOOOOO0OO0O0O0O0O0OOOOODOOO0000o00o0ono0o £%
0000000000 w13 0OoOoOoOoOoOoOoOoOoOooooooooo EM
000000TMDOO00000000000 Vri=9000000000 Foa
0000 Vr=1500000000000000000000000000 = g5
0000000000000 0000000O0O0O0O0O0ONoooooo Em
TMD 0000000000000 00000000000000000 &
0.0
0000000000000 00000O0OOODoOooon 3

Reduced Wind Velocity (Vr=V/fD)
4. 00000 O80O0Cee20000000O0000OOO0OO00OOCO0O

000000000000000000000000000000000 7 TMDO Case2[]
N0D000000000000000000000000000000 E
000D0000000000000000000000000000000 s

N00D00D00000000000000000000000000000
N00D00D00000000000000000000000000000
0000000000000000000000000000000000 o

ey

00000O00000000000000000000000000000 ——
00000000000 000000000000000000
5. 100 00000000000000000000000000000 bs DDOOU

goobooooboobooooboboooooboooooobobooooooobbboooooobooTMb O
gooboooooooortMbooboboboooooobobooooopbbooobobbooouoooo
gbobobbooogboboooobboboooooobooobooboooobboooobbooooboon
gooooobooooooooooon

~681- EARFRFERO M E R A S CEAK134£101)



